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Dec 22-1:35 PM 

Solve for x: 

4x+3.., 5 

Solve for e in the interval 0°5 0 5 3600 : 

4sine +3-5 

First Degree Trigonometric Equations  
A trigonometric equation is an equation with the variable expressed in 
terms of a trig. function value. 

If you recall how to solve linear equations, you can solve first degree trig. equations in the same 
manner. 

Dec 22-1:35 PM 

Now we have found that sin 	1/4. However, we were not asked to find sin e, we 
were asked to find O. 

sin 0 = 1/2 

reference angle 

quadrants is sin positive? 

Quadrant 

Quadrant 

Dec 22-1:35 PM 
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1). Solve for 0 in the interval 0 °< 0 < 360 0 : 

3tan 0 - 4 = Stan 0 - 1 

Dec 22-1:35 PM 

2). Solve for 0 in the interval 0°< 0 < 360°: 

3(sin 0 - I) = -4 

Dec 22-1:35 PM 

3). Solve for 0 in the interval 0 °< 0 < 360° : 

2cos 0 - 4 = -4 

Dec 22-1:35 PM 



4). Solve for 0 in the interval 0°< 0 < 360 0 : 

8sec 0 - 2 = 10 + 2sec 0 

5). Solve for 0 in the interval 0 < 0 < 27: 

2cos + 3./2- = 2,/f 

Dec 22 - 1:35 PM 

Dec 22-1:35 PM 
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Name: 
Day 1 HW odd #s 

1) 	Solve for all values of 2 cos 0 - /3 = 0 when 
0° s es 360°.  

5) 	Find, to the nearest ten minutes or nearest tenth of a 
degree, the solution set of 3 sin x = 1 over the 
domain 0 5  x 5  360. 

2) 	What is the solution to 3 sin 0 - 2 = 0 when 
0° 5  0 5  90 0 ? [Round to the nearest tenth of a 
degree.] 

6) 	Find, to the nearest degree, the solution set of 
6 tan x = 1 over the domain 0 5  x 5  360. 

3) What is the solution to 7 cos 0 - 5 = 0 when 
0° 5  0 5- 90 0 ? [Round to the nearest tenth of a 
degree.] 

4) Given 2 sin x - J = 0, solve for x, to the nearest 
degree, in the interval 0 5  x 5  360. 

7) Solve for all values of 2 sin 0 + 	= 0 when 
0° s es 360°. 

8) Given cos x = 2 , solvefor x, to the nearest degree, 

in the interval 0 5  x s 360. 
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12) Given -2 sin x = \h, solve for x, to the nearest 
degree, in the interval 0 5  x 5  360. 

9) 	Given sin x = - 2, solve for x, to the nearest degree, 

in the interval 0 5  x 5  360. 

10) Given 2 tan x + 2 = 0, solve for x, to the nearest 
degree, in the interval 0 5  x 5  360. 

13) Given 2 tan x + 1[3-  = 0, solve for x, to the nearest 
degree, in the interval 0 5  x 5  360. 

11) Given 2 cos x + /3-  = 0, solve for x, to the nearest 
degree, in the interval 0 5  x 5  360. 

14) Find, to the nearest degree, the solution set of 
5 sin x + 1 = 0 over the domain 0 x 5  360. 



• Factoring to Solve Trig. Equations 

Day 3 
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"If 'x' Is unknown, why 
should I rock the boat?" 

We know that the equation xs  + 5x - 14 0 can be solved by factoring the left aide and 
setting each factor equal to O. 

Try: 

X2-121=0 

3X2+9X-12=0 
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Jan 8-8:54 AM 

Jan 8-8:54 AM 

The equation tan' e + Stan 0. 14  0 can be solved for tan 0 in a similar way. 

Jan 8-8:54 AM 



I). Find all values of B in the interval 0 5 B S 2n for which 2sin 2  0 - sin 0. 3 0. 
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Jan 8-8:54 AM 

2). Find all values of 0 in the interval 0 ° < 0 5 360° for which 4cos2  8. 1 0, 

Jan 8-8:54 AM 

3). Find all values of 0 in the interval 0 ° 5 0 5 360°  for which 2sinflcos0 + sin e - 0. 

Jan 8-8:54 AM 
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Name: 
Day 3 HW odd #s 

1) 	In the interval 0 s x < 2n, the solutions of the 

equation sing x = sin x are  

Find, to the nearest degree, the solution set of 

2 tan2  x - 18 = 0 in the interval between 0° and 
360 ° . 

2) 	If 0 is an angle in Quadrant / and tang 0 - 4 = 0, 
what is the value of 0 to the nearest degree?  6) 	Given tang x - tan x = 0, solve for x in the interval 

0° s x <360°. 

3) 	What is the solution set of the equation 

2 cost 0 - cos 0 = 0 in the interval 
0° 5 0 < 360 °  ? 

7) 	Given 3 sin2  x - sin x = 0, solve for x to the nearest 
degree over the domain 0° s x < 360 °  . 

4) 	Find, to the nearest degree, the solution set of 

tang x - 3 = 0 in the interval between 0° and 360° . 
8) 	Given 4(sin2  x - 1) = 3 sin x - 4, solve for x to the 

nearest degree over the domain 0° s x < 360° . 
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11) Find, to the nearest degree, the solution set of 

tang x + 3 tan x = 18 over the domain 
0° 5 X < 360° . 

9) 	Find, to the nearest degree, the solution set of 

tan2  x + tan x - 2 = 0 over the domain 
0° 5 X 5. 90°. 

10) Find, to the nearest degree, the solution set of  

tan2  x - 5 tan x + 6 = 0 over the domain 
0° 5 x 5- 90 ° . 

12) Find, to the nearest degree, the solution set of 

cos2  B = 2 cos B + 1 over the domain 
0° 5  X < 360°. 

13) Solve 2 cos2  0 + cos 0 - 1 = 0 for a value of 0 in 
the interval 0° 5 0 5 90° . 



Name: 	Day 5 	 Date: 	  

1) Solve the following equation algebraically for all values of 8 in the interval 0° S 9 < 360° 
2 sin 9 — 1 0 

2) What value of x in the interval 0° S 8 <360° satisfies the equation -‘5tanx +1 m  0? 

3) What are the values of 8 in the interval 0° S 8 < 360° that satisfy the equation tan 8— ,N5 — 0? 

4) What is the number of degrees in the value of 8 that satisfies the equation 2 cos 8-1 = 0 in the 
interval 0° S 8 <360°? 

5) Which values of x satisfy the equation sin 2 x +sinx — 0? 



6) In the interval 0° S 05 360°, what values of 6 satisfy the equation tar? 0— 3 tan 0+2 = 0? 

7) In the interval 0 S x .5 2n, the solutions of the equation sin 2 x = sinx are 

8) If 0 is an angle and tan2  6— 4 = 0, what are the values of 8 to the nearest degree? 

9) In the interval 0° S 85 360°, what values of 8 satisfy the equation 3 sin e  0+ sin 0— 2 = 0? 

i s -12 



Solving Second Degree Equations 
Using the Quadratic formula 

Day 7 

II yeah, Homownek Holy lino/ I need 
have you contain the quadrant equotIon 
In ro phly the amount of time It taltel to 
orf n coo of coffer." 

Jan 8-1:29 PM 

Not all quadratic equations can be solved by factoring. It is often 
useful, or necessary, to use the quadratic formula to solve second 
degree trigonometric equations. 

Solve in simplest 
radical form and to the 
nearest hundredths: 
X2-5X+5=0 

7=1,11,4% 

X — 
2e 

-lit Vd- 4ac  
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Jan 8-1:29 PM 

Now try: To the nearest degree, solve for 0 in the interval 0 °  5 6 5 360°: 

tan2X-5tanX+5=0 

Jul 20-10:22 AM 
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I). To the nearest degree, solve for 8 in the interval 0 °  5 8 < 3600 : 

3sin28 -7sin0 +2.0 

 

Jan 8-1:29 PM 

2).To the nearest degree, solve for e in the interval 0 ° <8  <360° : 

2009' 0 • 4cose + I .• 0 

Jan 8-1:29 PM 

3).To the nearest degree, solve for e in the interval 0 ° <e  <3600 : 

3cosa  -5cos - 4 0 

Jan 8-1:29 PM 



cos 0 
3) tan 0(tan 0 +1) = tan + 3 

5) 3tan 2  —Stan() = 2 

4) cos 0 = 1 

Name 	  Day 8 Date 	  
Quadratic Trig practice 

For 1-5 solve for 0 in the interval 0° 5 0 5 360°. 

1) 3 tan' - 2 = 1 	 2) 5 cos' 0-1= 3(1— cos' 0) 

6) What is the total number of solutions for the equation 3 sin' 0 + sin 0 = 2 in the interval 
0° 5 0 5 360°? 

(3 ) 3  

(2) 2 
	

(4) 4 



Name: 

 

Day 9 
Review 

Date: 

 

    

1) Solve the following equation algebraically for all values of 0 in the interval 0° 5 0 < 360° 
2 tan t9 - 3 = -5 

2) What values in the interval 0° 5 0 < 360° satisfies the equation 2 s in  9 + 3 = 3(sin 9  + 1)? 

3) What are the values of 0 in the interval 0° 5 0 < 360° that satisfy the equation 

6cos 9  + \rj = -4(cost9  + 'Nh )? 

4) Find the values of 0 that satisfy the equation —2(tan 9 - 4) = 3(4 - tan 9) in the interval 
0° 5 8 < 360°? 

5) Which values of x satisfy the equation sin 2 x +sinx — 0? 
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